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Say the 715577 is like 2''9 — TR 9295 ;71957 NN

OVERVIEW

X117 27 is of the opinion that 17°°p% ¥"R 1205w 0W2 777, A Wn is not effective
against a w. The XM explained that n"7, who maintains that 2°1AK81 PX
120199, despite the fact that the 0>7y have a qoxw 1197, follows the opinion of
1",

In the previous Xnyv 73"7 NVOIN it was explained that we should not infer that
the 1327 disagree with 1"9. Rather they also can maintain that 1%»p% 3"X.
However 0*7v are different and more powerful than the m%. When 273 have
a 7OXW 17977 against a W they are believed.

7am1 27 challenged 71" for saying his rule of 1m»p% ¥"X as if all agree to it. 1"
maintains that only n"1 agrees that >°p% %"X; that a 2 is ineffective against
a "w. However the oomn are of the opinion that ¥>»p% 71 for a W is
effective against the 0w.

This challenge of 1"7 to 71" seems to contradict that previous n1v0I1N; which
distinguishes between the Mm% (whose 1 is ineffective against a qvw) and
o7y (where a "oXWw 7197 is effective against a qww). Our MdOIN will resolve
this difficulty.

Mmoo asks:
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This is incredible; to assume that X117 27 must agree with »"7! For 7" can
even agree with the 3129 that 19019% 0°1aK1, even if he maintains M*p% ¥"R
since 277y are different than the m>. For the 0>7v are (more) powerful than
the M7 and are capable of invalidating the aww. The m? is not believed with the
W of 7°°n. However the 0°7v are believed with the 208w 1797 —
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For this indeed is the opinion of %''9; everyone maintains "xwan and
nevertheless the 1327 maintain that 19015% 2»x3 for 121 07y "»*>x.! The question is why
does 1" insist that the ruling of %"xwan follows only the view of »n"9, when >"1 clearly
states that even the 1137 maintain that 5"¥xwan.”

! See previous Xnyv 7"7 M2OIN.
* This difficulty is eliminated according to the interpretation of >"%1, who maintains that 112 »"1 argue
whether 1°°p% 7°7% or not and there is no difference between the 77 and the o>7v.
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N1B0IN answers:
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And one can say; that 1'% does not see fit to differentiate between the m?
and the 0>7v. According to 1" if 0>7v are believed to be Y010 the qww (with a "oRW 7197),
then the M7 is also believed to claim °ny1o (with a 7w 12); and if the M7 is not
believed to claim (7277 122) "Ny then the 2°7v are not believed to be %019 the ww
(with a "oRw 17977). Therefore, if we maintain that 2"¥Xwan (a 1 is ineffective for the m?)
then we must maintain that 190199 2°1m81 X (that a q0Xw 7197 is ineffective for the 2>7v)
like n"9 stated. 1"7 obviously disagrees with 7171 .

mooin asks an additional question:
- “13N >Ry 9999 XY 297 RNAYT ININRN ON)

And if you will say; perhaps 837 39, when he states that "¥Xwan, is
discussing a case of X7 or 7R (and not the case of nyo).” It is only when the
M7 claims that it was a XY7™ 0w or a 73X “ww that 73"7 maintains that the 77 is not

believed with a 2 of 7>, However when the Mm% claims *ny1o (or when 2°7v have a 1197
7oXw by 2°011K) he (they) will be believed because of the .0

moon will prove that we can differentiate between the claim of *ny75 and the claims of
NYTIM or 7InK:

- "ypY 71 103 29 195987
For even 1''n who maintains that 12»pP% 7°7% 1200w 0wa 7772 in a case of
"nyao, later agrees that by a 7R Xv7n Jvw, that even the 2>7v are not believed.
Perhaps "9 also meant 722X Xy 71 only, when he said %P5 "X 1205w “vwa 370. If that
is true, 71"7 does not agree with "9, but rather his ruling is according to the 7127. It is only
by 71X X¥7In that a 22 is not effective, however by (121 2°1v1) 2°01X (and also by *nyID)

A XyTm means that the m> claims that he was forced to agree to the signing of this qvw, even though he
did not borrow any money.
* An 71X means that the M claims he trusted the m>» with this qvw (to keep it for when it will be needed),
even though he did not borrow any money.
> See “Thinking it over’.
® It is perhaps possible that this question is a continuation of the answer to the previous question. N921n
answered that 1"1 does not distinguish between 07y and the m?>. This indicates that 7"1 may indeed make
this distinction that even though the m? is not believed, nevertheless 0>7v are believed (as the o°non
maintain). It follows therefore that the statement of 7"¥Xwan is not a blanket statement, that no claim is
effective against a 70w, but rather that it is a selective statement; certain claims (°>n¥1, etc.) are ineffective
against a Tww. If that it the case, then perhaps "1 was very selective and the statement of 7"¥Xwan is
referring to the claims of Xy7i 73K exclusively. 1"7 agrees that these claims are ineffective. What is s'1"9
challenge to 7"1?! See footnote # 9.
T,
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a wn is effective.’

N1B0IN answers:
19991 N9Y YANP ONU NN 297 1M U

And one can say; that 7' stated his ruling (of "¥Xwan) in general terms

and he did not differentiate between one type of 7vwa 77 (like >nym) to another
type of w2 77 (like 712X X¥TI0). Rather he maintains that in all cases, even by *ny3,
the ruling is that m»pH ¥"X. Therefore 17 (who maintains that there is no difference
between the Mm% and o°7v) challenged him’ that he should have said that "1 17397,
because according to the 0°non who maintain 190197 0°12R31 also maintain that the M2 is
1AN1 by A271727 1212 SNyAD.

SUMMARY

1"7 disagrees with *"1 and maintains that there is no difference, concerning a
1 against a Tww, between the m> and the o°73.

The fact that 1"7 did not qualify his statement of "¥X 1205w TwW2 7707,
indicates that it applies in all cases; including if the Mm% claims >ny1s.

THINKING IT OVER

moon asked that perhaps 1"7 made his statement of %"Xwan only
concerning 713X XY7; not nyo.' If that were so, how could the X713 say
that X117 2770 »"77 Xnywv? The case of °01X is not comparable to 7InK
xy7im! !

¥ See 11 Tmx "7 2,0 MO who explains as follows: In the case of 71X Xy7m they are not believed,
because according to their testimony the 70w was written properly. It was a properly written “0w. A 13n
cannot invalidate a properly written qw. This is known as X70w? ¥ 719 5v °nxk &2. However by 0°01K, they
are claiming that there never was a valid 70w (it was never properly signed by 0 w> 2>7v), therefore the 1
is effective. In the case of *ny7d (it is exactly the opposite); he is agreeing the v¥ was valid. There is no
attempt at all to invalidate the quw per se. The Mm% is (merely) claiming that the loan was already paid.
Therefore (according to 1"7) the 1 is effective.

? See footnote # 6. According to this answer that 7"3 does not differentiate and maintains that 2"$xwan is a
universal law; no claims (except for 7°111) are effective against a "vw, then the answer to the first question
of mMpoIN may change as well. It is not merely (as N1©OIN originally claimed) that 1"7 does not distinguish
between the m“ and the o°7y; but rather that ("9 deduces from the blanket statement of 7" that even) 71"
himself does not make any distinctions; but always maintains that 2"¥xwan (even by 0>7¥). See following
o> 1"7 mooIn footnote # 1.

' See footnote # 5.

' See footnote # 8.
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